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R AER D AR R R R E

BA3—2 BEYIERTIHIEREINDSEHEICEAISHEIE (1/1) _ _ | HESEE | ERI9FEE
[ ZERIbOTE | BmEs | 12983009 B | ] [ il | ZamAERE 0hEl
, RIERD Tim T 5L 2 ERA
1;5.; TREOBBOEILHNORES TREQHBEEILADKRES TREOBEBOEILHDORES TREQHBEEILADKRES
&S X 4 B | TS DER ﬁmxéjé & 4 TIHMASDKE| F& 730)7(%?3 R 4 B | LIEHSOLS jmxa;é X 4 rtimhooks | B ﬁa)jcéjé
(m) (m) (kN/m) BB RfE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
1 100kN/mM##8Z% % 1.00/0.00 ~ 3.38 154.40| 3m#%#2 25| 0.00 ~ 1.19] 3.56 17.98| 100kN/m%E#2% % 1.00| 10.61 ~ 40.90 154.40| 3m%#8 % 5| 30.00 ~ 40.90| 3.56 17.98
Zzhlst 1.00] 3.38 ~ 11.17 100.00] =hLlst [ 1.19 ~ 11,17 3.00 15.16 zhLst 1.00] 5.00 ~ 10.61 100.00] #hrist | 5.00 ~ 30.00| 3.00 15.16
2 100kN/mM%E#8 % % 1.00/0.00 ~ 287 145.40| 3m%E#Bx % -~ - - —| 100kN/mM%E#BZ % 1.00| 10.99 ~ 3549 145.40| 3m%E#BZ % -~ - - -
ZThilst 1.00] 2.87 ~ 10.65 100.00| Zh st |0.00 ~ 10.65| 2.96 14.97 ThLst 1.00] 5.00 ~ 10.99 100.00] Zhrist | 5.00 ~ 3549| 2.96 14.97
3 100kN/m%##B %% 1.00{0.00 ~ 1.22 118.46| 3m%#BZ % -~ - - —| 100kN/ Mm%z % 1.00| 10.71 ~ 1495 118.46| 3m%E#BZ % -~ - - -
Fh st 1.00]1.22 ~ 9,01 100.00| #h 4t |0.00 ~ 9.01] 2.10 10.60 Fh st 1.00f 5.00 ~ 10.71 100.00] =it | 500 ~ 14.95| 2.10 10.60)
4 100kN/mM%#8 % % 1.00/0.00 ~ 2.58 140.57| 3m%#BZ 5 -~ - - —| 100kN/mM%#8% % 1.00] 10.67 ~ 24.10 140.57| 3m%E#BA 5 -~ - - -
zhilst 1.00] 2.58 ~ 10.37 100.00] Z=hilst [ 0.00 ~ 10.37| 2.61 13.20 zhLst 1.00] 5.00 ~ 10.67 100.00] #hld4t | 500 ~ 24.10( 2.61 13.20)
5 100kN/mM%E#8Z% % 1.00{0.00 ~ 231 135.97| 3m%#EZ 5 -~ - - —| 100kN/m%i#8 2% 1.00| 10.79 ~ 22.30 135.97|3mZB %5 -~ - - -
zhst 1.00] 2.31 ~ 10.09 100.00] Zhilst |0.00 ~ 10.09] 2.58 13.03 zhst 1.00] 5.00 ~ 10.79 100.00] Zhuist | 5.00 ~ 22.30| 2.58 13.03
6 100kN/m##B % % 1.00/0.00 ~ 147 122.36| 3m%#B =z % -~ - - —| 100kN/ Mm%z 5% 1.00| 11.07 ~ 17.20 122.36| 3m%*#B % % -~ - - -
ZFh st 1.00[1.47 ~ 9.25 100.00| #hi4t |0.00 ~ 9.25| 2.22 11.20 Fhn st 1.00] 5.00 ~ 11.07 100.00] #h it | 500 ~ 17.20| 2.22 11.20)
7 100kN/ Mm% 2% -l -~ - -|3mEZ5 -~ - - —| 100kN/mM%E 2% - -~ - -|3m%EiBZ5 -~ - - -
zhlst 1.00/0.00 ~ 5.90 73.86| ThList |0.00 ~ 0.00f 1.69 8.56 Thst 1.00] 5.00 ~ 6.70 73.86] ThLis | 500 ~ 6.70] 1.69 8.56
8 100kN/m%#8 % % -l -~ - -|3mE#Z5 -~ - - —| 100kN/ Mm% %% - -~ - -|3m%zE=x % -~ - - -
Zzhlst 1.00/0.00 ~ 473 58.94| Zh st 1000 ~ 4.73] 1.80 9.10 zhst 1.00] 5.00 ~ 5.00 58.94| #hus | 500 ~ 5.00| 1.80 9.10]
100kN/mM%#BZ % ~ ImEEZD ~ 100kN/mM##BZ 5 ~ ImERBAD ~
zh s ~ Zhst ~ zh s ~ ZhList ~
100kN/mM%#B % % ~ ImERERD ~ 100kN/M%E#BZ % ~ ImEBZD ~
Zzhs ~ Zhus ~ zhus ~ Zhst ~
100kN/mi%##8 2% ~ ImxHEz5 ~ 100kN/m##82.% ~ 3ImEBZD ~
zhlst ~ ZhLs ~ st ~ zhilst ~
100kN/m% 2% ~ ImEEZ D ~ 100kN/ M#%#8 % % ~ ImEHBZD ~
Zh s ~ Zhst ~ zh st ~ Zh st ~
100kN/ Mm% 2% ~ ImERERD ~ 100kN/ Mm% % ~ 3mEBRD ~
ZH LIS ~ Zh st ~ zh s ~ Zzh st ~
100kN/mi%#8 2% ~ ImEEZRD ~ 100kN/ Mm% 2% ~ ImEBZD ~
Zh LSt ~ Zh st ~ ZhLs ~ Zh st ~
100kN/m%##82.% ~ ImEEZ D ~ 100kN/ Mm% % % ~ ImEHBRD ~
zhilst ~ Zhs ~ ThLst ~ Thils ~ _
=FR





